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INDIAN ARMY SOL CLERK

COMMON ENTRANCE EXAMINATION FOR CLERK

TIME - 1 Hour

MAXIMUM MARKS: 100
PASSING MARKS: 32

ALL QUESTIONS ARE COMPULSORY AND CARRY EQUAL MARKS
gt e AT & IR AT F H !

PART 1: GENERAL KNOWLEDGE

MARKS 10 x 2 = 20

Q1. The first lady Governor of independent India was:

Q2.

Q3.

Q4.

TadT AR FT Ugoll ATedlT ToIUTe

(a) Vijaya Lakshmi Pandit/fasra aie#T 9f3a (b) Sheila Dixit/2frer ffara

(c) Sarojini Naidu/ERrslell A1

MODVAT is related to:

(d) None of these/geH & lg g1

HAT Heg-aftid T (MODVAT) & Hoeatl fhadl g ?

(a) Sales Tax/fashl-T

(c) Income Tax/3TI-shY

Which is the Capital of Bhutan?
${CTeT ST ToTeITel & 87

(a) Paris/aR&
(c) Thimphu/frFg,

Gobar gas mainly contains?

MR Ag Ay AT ar g gard 2
(a) Carbon dioxide/aTaT STS3iTFaTSS

(c) Hydrogen Sulphide/grsgiald Hehiss

(b) Wealth Tax/&eT-shT

(d) Excise Duty/3c91e [eeh

(b) Kabul/srger

(d) Tehran/dgx=

(b) Carbon Monoxide/aTesT AlATTFATSS
(d) Methane/fad=
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Q5. Myanmar is the name of:

FIATAR foreremt AT &2

(a) Bhutan/s{eTet (b) Thailand/amgelvs

(c) Burma/s/#T (d) Sri Lanka/#frerert
Q6. Stainless steel is an alloy whereas air is a:

BT TN T U1 & oFelfh gt

(a) Gas/3& (b) Mixture/f&sor

(c) Compound/Jifars (d) Solution/ater

Q7. Atomic theory was invented by:

TRATY] et 1 @iet et hr 242
(a) Benjamin/s<tfAeT (b) Marie Curie/HATRT Fg{
(c) Albert Einstein/ Tesc 3MEEETT (d) John Dalton/SiieT SecsT
Q8. MacMahon line is between
HhAIET ST ToheT SRIT o &1 872
(a) India & Pakistan/®Rd 3R qifhediad  (b) Pakistan & Sri Lanka/dTferedTst 3R Aeishr
(c) India & China/#Rd 3R AT (d) Pakistan & China/arferedra 3R et

Q9. Seismograph is used to measure:

faeATE a1 g A9 & forw g21eT fohar Sirar 82
(a) Rainwater/auT (b) Depth of water/dTeiT &I IEITS

(c) Speed of wind/argaaT (d) Earthquake/${eheq

Q10. Which period is known as the Golden Age in Indian History?
HRAT STAETa 7 fohe a1 oht T0T JI7 o ATH @ ST ST § ?

(a) Aryans period/3ﬂ'éﬁ‘§?T (b) Guptas period/3[cd JaT

(c) Mauryas period/#{& gar (d) Slave period/&era Ja1



PART 2: MATHEMATICS #1197 - 31f0rq MARKS 10 x 2= 20

Q11. 8:?2::1:4
(a) 16 (b) 24
(c) 32 (d) 26

Q12. The average of the following numbers is 21.
18, 15, x, 22, 31. Find the value of ‘X

ot gansit « 3iaa A 21 §:;

18, 15, X, 22, 31. &I AT ATd HIfAAT;

(a) 10 (b) 12
(c) 14 (d)16

Q13. If the diameter of a semi-circular protractor is 14 cm, then find its perimeter: (n= %)

I Tk ITIGTHR FIVTATIS T AT 14 FAT & A 38T IROUTH AT HIFT: (1= 2)
(a) 28 (b) 30
(c) 32 (d) 36

Q14. For what value of k, the equation 4+ kx+9=0

K & ot ATl & forT HHARTOT 4x” + kx + 9= 0 o Hel HIATA gl

(@) 12 (b) 10
(c) 14 (d) 16
Q15. Find the median of the following numbers:
fora=1 &1 it TEansit &1 7E Aa hifew
2,10,9,95,2,3,7,11.....
(a) 4 (b)5

(c) 6 (d) 7



Q16. If 2x + y= 35 and 3x + 4y= 65, find the value of L
I 2x +y= 35 AR 3x + 4y= 65 & I Al A AT
(a) 6 (b) 3

(©)9 (d)12

Q17. A man goes 15 m due west and then 8 m due north. Find the shortest distance from the

starting point.
Teh S bl TTREH TR & 15 #Y. ST § 3R qd ferem & 8 #Y. Sirelm § ATy hford i ag IRest

foig & &1 @ &1 fhcal g o 8 2
(a) 15 (b) 16

(c)17 (d) 18

Q18. If an article purchased for Rs 60 is sold for Rs 80 which is the % of profit or loss on sale:

afe; g aEg 60 T. H TIE ST 3R 80 T. H o ST A fohded FTARI ofret AT &1l €52
(a) Profit 40%/<IT8T 40% (b) Profit 50%/¢T8T 50%

(c) Profit 25%/<IT# 25% (d) Profit 30%/<IT8T 30%

Q19. A 200 meter long train passes a pole in 15 seconds, which is the speed of the train?

U {S3MMET 200 HieT e, Ueh [SaToll Sl @S &l 15 Tehg H IR HIdT & ar ITmay Shl Tel
FIT gIafr 2
(a) 48 Km/hr (b) 32 Km/hr

(c) 56 Km/hr (d) 40 Km/hr

Q20. Calculate the simple interest on Rs 4000 for 3 years at 8% per annum]
4000 & T Fef TR T 8% 1T AT X TR 3 I T ATYROT SATST AT HIAT

(a) 850 (b) 960
(c) 980 (d) 880



PART 3: COMPUTER SCIENCE/ EFQ{ETﬁ'HTH MARKS 10 x 2= 20

Q21.

Q22.

Q23.

Q24.

Q25.

Full form of RA.M is:
H T G ATH 18?2

(a) Real Access Memory/Rae taad AART (b) Random Access Memory/3sH
TFaH AART

(c) Random Available Memory/{3a 3ideieal (d) None of these/3eT8 & IS TgT
AR

An item found on the standard office toolbar:

€33 AP ¢ IR # U AT aTell Ueh UG

(a) Edit/tfse (b) File/®Tser

(c) Help/ &9 (d) Printer Shortcut/fex emcehe
The programming language that the Computer understands is:

ST T HIWT T8 heg el HHASA ?

(a) Machine language/#2fieT ofaasr (b) Computer language/stIeX eadst
(c) Source program/IR TEITH (d) None of these/3+TH & IS T&T
Which is the following is not a part of C.P.U?

SoTH A hled AT O T HET ST § ?

(a) Processor/SaaR (b) ALU/T TSI g

(c) Primary Memory/JTis#3 A& (d) CMOS Battery/dT T# 371 8 sSedr
Which is related to an Internet?

SoTH H FAT Sl F HIEAT & ?

(a) Telnet/Seleic (b) E-mail/3-#er

(c) UPS/g dr.uw (d) None of these/g+T# ¥ FIS 18T



Q26. What do you understand by ALU?

T.Uel. A 319 AT HASA & 2
(a) Access Logical Unit/Taae difolehel  (b) Arithmetic and Logical Unit/3riafes
N T N

(c) Arithmetic Log Unit/ 318 e et (d) None of these/3sTH & @IS 7T&T
gfae

5N

Q27. How many bites is in 1Kilo Byte?

U fohell T8¢ & fohdsl SBC 8l § ?
(a) 1000 (b) 1024
(c) 1096 (d) 512

Q28. How many cycles per second is in 1 GHz?

1 3feT gt A fohder AT Ifa Ahs g & ?
(a) 1,000 (b) 100,000
(c) 1,000,000 (d) 1,000,000,000

Q29. Which of the following holds the system date and time?
g TOECH o FHY T4 feeieh & [T folet # & &1 [SIFAeR glan g ?

(a) Control Card/&cieT H15 (b) SMPS/tE.TA.[A.TH

(c) ROM/I=T (d) CMOS Battery/faar g Sedr

Q30. The first file the Computer look for at the start up is:
FIE 39 & GNIeT TP GaRT Gl SiTel dTell BIgel & :

(a) Help/gea (b) Auto Exe/3eT S TaH 3
(c) Command.Com/&#Ts.siH (d) Edit.Com/ufse.ara
PART/HRT 4: ENGLISH/313Si MARKS 10 x 2= 20

Choose the appropriate word from the four choices which best describes the meaning of the
Word or Phrase underlined:

Q31. His achievement has been incompatible with his efforts.

(a) proportionate (b) excessive

(c) consistent (d) inconsistent



Q32. | never expected such licentious conduct from him.
(a) illegal (b) full of deceit

(c) irresponsible (d) immoral

Q33. She marvelled at her husband'’s boldness.

(a) was greatly surprised (b) shocked

(c) be happy (d) be proud

Q34. He is always making such nebulous proposals:

(a) ambitious (b) insulting

(c) vague (d) impracticable

Pick out the word that is most nearly the same (Synonyms) amongst the choices for the
word underlined.

Q35. Dexterous

(a) Unskilful (b) Skilled

(c) Ignorant (d) llliterate
Q36. Erudite

(a) Uncertain (b) Learned

(c) Ilgnominious (d) Entire
Q37. Eutile

(@) Fruitful (b) Unsavoury

(c) Useless (d) Acceptable



Pick out the word that is opposite in meaning (Antonyms) amongst the choices for the word

underline.

Q38. Oblivion

(a) Observation

(c) Memory

Q39. Obese
(a) Thin

(c) Rigid

Q40. Naked

(a) Ignorant

(c) Clothed

(b) Remembrance

(d) Memorizing

(b) Fat

(d) None of these

(b) Uncivilised

(d) None of these



SECTION ‘B’ ENGLISH MARKS 20
Read the paragraph below and answer the question given at the end:

More than seventy per cent of the people of India live in villages. The number of towns and
cities are much less than that of villages. Most of the soldiers are also form villages. Most of
the villages of today are not the same as villages of past. Most of the villages have changed
beyond recognition since India achieved independence. In ten years time, you will not be able
to recognise even your own village.

You will find a marked difference if you are not a villager and do not know it already. The
house in a village were mud houses. They were dark, becauses they had very small doors and
windows. Sometimes they had no window at all. Such houses do not get enough light and
fresh air. They not good for health.

The streets were dirty. There was a lot of mud in this streets, because there were no drains.
The villagers threw their rubbish and cow dung their houses. These cow dung heaps made the
surrounding dirty. Flies and germs breed on such dirty heaps. In this way so many diseases
used out in villages. The villagers tool water for drinking from the wells. They washed their
dirty clothing at the same well. The wells were not clean/

QUESTIONS: MARKS 5x 2=10

(a) Are there more towns in India than villages?

(b) What are the villages of today like?

(c) Why are the houses in the village dark?

(d) Why were the street dirty?

(e) What were the causes for breakout of diseases in villages?

Use the following idioms and phrases in your own sentence (attempt any five) MARKS 5 x
1=5

(@) Inanutshell

(b) Hard and fast

(c) Atthe eleventh hour
(d) Make good

(e) For Good

(f) Look forward to
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